5.NBT.3B - Compare two decimals to thousandths using >, =, and <

Multiple Response
Identify one or more choices that best complete the statement or answer the question.

1. Compare decimals. Choose the correct symbol >, <, or =.
6.534 and 6.481

a. < c. >
b. =
2. Order these numbers from greatest to least. 4.932, 4.742, 4.817, 4.94
a. 4.94,4.932,4.817,4.742 c. 4.742,4.817,4.932,4.94
b. 4.742,4.932,4.94, 4817 d. 4.94,4.932,4.817,4.742
3. Order these numbers from least to greatest. 5.153, 5.6, 5.315, 5.351
a. 5.153,5.315,5.351,5.6 c. 5.351,5.153,5.6,5.315
b. 5.153,5.6,5.351, 5.315 d. 5.6,5.153,5.315, 5.351

4. Compare decimals. Choose the correct symbol >, <, or =,
0.66 and 0.659
a. > c. =
b. <

5. Compare decimals. Choose the correct symbol >, <, or =.
185.26 and 185.257
a. > c. =
b. <

6. Compare decimals. Choose the correct symbol >, <, or =.
3.343 and 3.434
a. > c. =
b. <

7. Compare decimals. Choose the correct symbol >, <, or =.
8.72 and 8.721
a. > c. =
b. <

8. Compare decimals. Choose the correct symbol >, <, or =.
39.640 and 39.64
a. > c. =
b. <



9. Compare decimals. Choose the correct symbol >, <, or =.
5.067 and 5.042

a. > c. =
b. <
10. Order these numbers from least to greatest. 0.003, 0.303, 0.030, 0.333
a. 0.303, 0.003, 0.333, 0.030 c. 0.003,0.030, 0.303, 0.333
b. 0.003, 0.333, 0.303, 0.030 d. 0.333,0.303, 0.030, 0.003
Answer 1: C

> means that the number on the left is larger than the number on the right. .5 is larger than .4
Answer 2: D

Answer 3:
Answer 4:
Answer 5:
Answer 6:
Answer 7:
Answer 8:

> 0O ™ W > > >

Answer 9:
Answer 10: C



